Bunch Length & Charge 6 =25x10° q=1x10"9

TTF Module (8 cavities)
Cp = conv(sn,WTM ,k,sa,sb) mean(s,A,c) = —1532x 10° rms(s,A,c) = 8.561x 10%

LOLA (length=3.6m, r_pipe=22.44mm)
dn = conv(sn,WLOLA,k,sa,sb) mean(s,A,d) = —2.2x 10° rms(s,A,d) = 9.271 x 10%

en = conv(sn,w3rd,k,sa,sb) — dgrq A (sn)

mean(s,A,e) = —6.081x 10° rms(s,A,e) = 2.063% 10°
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Bunch Length & Charge 6 =25x10° q=1x10"9

TTF Module (8 cavities)
Cp = conv(sn,WTM ,k,sa,sb) mean(s,k,c) = —1.532 % 10°

LOLA (length=3.6m, + estimated step transition)
20

dLoLA = 93rd 55 42

dp = conv(sn,WLOLA,k,sa,sb) —d oL M (sn)

mean(s,A,d) = —5.821x 10

en = conv(sn,w3rd,k,sa,sb) — dgrq A (sn)

mean(s,A,e) = —6.081x 10°
(sigma=1.5mm: -5.766E4

rms(s,A,c) = 8.561x 10%

rms(s,A,d) = 1.979x 10°

rms(s,A,e) = 2.063% 10°
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